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MARKING SCHEME
T4 2024 - 2025

g Qs : -

1. 3 TISET AT 3297 JoAToh &l ATAHITEF TEqHE T gl 3% TroHT H &7 [T 39 sifaq

Tl & | I GATATHF TaH Hihias gl Tia Trareff § 379 o ar {9, 73 95! I1 37
S 33T 8, a7 39 S & fau S

The objective of the marking scheme is to make evaluation as objective as possible.
The answers given in the marking scheme are not final. This is suggestive and
symbolic. If the candidate answer differ than given answer but it is correct and
appropriate, marks should be awarded to student.

. T, 9F, AT F qElE ST &l TATART ATHTT [&U ST
Correct, righteous, meaningful and accurate answers should be given due
weightage.

. TeATT T ST F AqET Far I forae ¥ 3% quites fIw s

Full marks should be given to the candidate for writing the correct answer as
expected.

. Faanra et va i i feufa § stfer st e aieareff #1 ertaa 91 #
Do not encourage the candidate by giving more marks in case of spelling mistakes
and digression.

. Tg-aHoTH T — TS T T &7 9= 36 70 g JAT A1 § F UF Aol a°7 UF TAd § ar
LT AT TATE & Tl ST A gU 3 (&7 S0, i af T o 3¢ &1 ey 981 147 §
IT TAT I T FTET AT g a1 off TET 3T T &A1= | T@d gu 3 {2 o)

Multiple-choice questions — If the candidate has made two attempts and one of
them is correct and one is wrong, then marks will be awarded considering the
correct option as the right answer, and if no answer has been struck off or even
both if the answers have been crossed out, marks should be awarded keeping in
view the correct answer.

. TEET HEA-TEeAwT [ IT-areAwt & Haer G Smar g & 39w qitawrst w1 gedie

T T IAL TUIGAT A qTAT STTAT 8 T Ted 39T A (x) a2 ‘0’ 3 JaT+ 36 ST




10.

11.

12.

All the Chief-Examiners/Sub-Examiners are instructed that while evaluating the
answer sheets, if the answer is found completely wrong, then the wrong answer
should be marked (x) and given '0' marks.

FESACHE TeAi § o 21 ey, &g @ g afw altardt 7 a1 g e o g, A
o= &g o g w8 #rE off 31 9t g1 ar o 37 92t 7 a3 1 98t A g oF
faw 5 |

In short answer type questions in which two points are asked, if the examinee has
written both the points correctly, or has written five points out of which any two

are correct, even then marks should be given considering two correct and
appropriate answers as correct.

ATATE TAT SFHATT F(E T TT % I T ToATheT ST AT TAT Siehame 2t BFham st
AT, ST AT et 7 a5t 397 73T g, 39 907 gq Meifa qur &% vae & S |
FUITCHE TEAT o I AT il THT TLEAF AT TAARTTAT T FT ThaT § T TLrarit

T THRTLTCHS 3T (33T ST |

The answer to the question paper distributed part-wise and number-wise should
also be evaluated part-wise and number-wise, full marks should be awarded for
that part for which the candidate has given the correct answer. While checking the
answers to the descriptive type questions, the examiner can mark according to his
discretion, but the candidate should be given positive marking.

TTOT-&THAT TS AT {h- FT9e T2 a1 fgT S|

Attention should be paid to language-ability and expression-skills.

HA-T&®T | IT-TLTqHT Al I [RAHTN FT qeATHT F2d & (0 Fae g =aer/
AT IUee FTATAT ST 72T 8, e qearahd e § et yame &7 fe g1, 3¢ #q= a7
g1, ST g & f3U 10 ST & ST g7 ar qiierd, e e ¥ fA=n- Al w39 v

T T 9 e ST F7

Only general instructions/guidance is being provided to the Chief-Examiners/Sub-
Examiners to evaluate the answer sheets or if there is any error in the evaluation
instructions or the answer is not clear or any other occurs, the examiner, after
discussing with the chief examiner, evaluates that question according to his
discretion.

T T H T 38 T 1 T T FeA AL AW H [AAF ¢ |

There are total 38 questions in the question paper. The question paper is divided
into total four parts.

AW 1 § 7 G701 7 20 T F T ATHA &, =1 T 1-1 FF F 2 |

Section A consists of questions up to serial number 01 and 20, each questions is
carrying 1 mark .




13.

14.

15.

AN 2 § %9 |67 21 ¥ 29 9% & WF AaUHd g, a9 W 2-2 % & g |’ wy afa

TS LT &, ST ATeHad 30 el 7 ATF T 2 |

Section B consists of questions from serial number 21 to 29, all questions are of 2
marks each, all questions are very short answer type, answer should not exceed
the maximum limit 30 words.

AT 3 # % &&aT 30 & 35 T & W A &, T T 4-4 3i & g qef1 T TLSTLAS &,
IAT AR 80 9raat & T A7 2l |

Section C includes questions from serial number 30 to 35, all questions are of 4
marks each, all questions are short answer type, answer should not exceed limit
maximum 80 words.

AT 4 & FF F&47 36 7 38 T & T ATHA &, THT 57 6 -6 3i%h % § T 77 <15 ITrcH®
g, IO Afrway 200 eTsal & ATAF AT 2T, T /. 36 T I AT T Tgraar § far e g

Section D consists of questions from serial number 36 to 38, all questions carry 6
marks each, all questions are long answer type, answer should not exceed limit 200
words, question no. 36 is to be answered with the help of the passage.

T 9. LR EED
T - 1
Section- A
THTSTITE % ST ANTET Fid HT STATHA & 2 1

(31) 1789 - 1857
() 1757 - 1889
(71) 1857 - 1979

(3) 1785 - 1855

What is the lifespan of August Comte, the father of sociology?
(a) 1789 - 1857
(b) 1757 - 1889
(c) 1857 - 1979
(d) 1785 - 1855

I | () 1789 - 1857

(a) 1789 - 1857




TR Tl T g AT I9T AT ?

(1) \TEq

() T

() wi

(%) sTATEH

Which country was the centre of the Industrial Revolution?
(a) India

(b) England

(c) France
(d) America

@) T
(b) England

1948 H TTHIRT A T LTI FoheTeh gIT FohT 1247 2
() B . s

() ZEta

() AT T

(%) TH.UA, fifFar

Who studied Rampura village in 1948?

(a) D.P. Mukherjee

(b) Durkheim

(c) Charles Cooley
(d) M.N. Srinivas

(%) To.uA. shffam
(d) M.N. Srinivas

Khasi is @....cccvvevevereenneee. ?

ST
Tribe




9TT<h T Y TF&T FAT G ?
CIREIRIEEC]

() &7
(F) AITEATHF TRATE
(7) TS

What is the legitimate form of power?
(a) political party

(b) power

(c) Matriarchal family

(d) sovereignty

(¥) g
(b) power

T it a8 ST SaH SATIFR &l T e, eI
&1 foeere et & 2

That structure of the family in which authority and dominance rests
with...........] is called patriarchy ?

forraryFR M AT g ?
EIERENRED
(F) AATTATIE
(&) TS
GEEEEE

Which of the following is the type of education?
(a) formal

(b) informal

(c) political

(d) Both Aand B

QEEEREI
(d) Both Aand B




FAT T ST Y ?
Jgaareg =ATh &l UF G0 | TF I AT Tl i FIAa e Far g

Correct the statement?

Polygamy restricts a person to one spouse at a time.

ggfadarg STk oI T 997 § TF I AT TAT I ATAS 12T Tt Hear
g

Polygamy does not restrict a person to one spouse at a time.

AT HEh d T SETeLW M § H T8I § 2
CIREEIES

CIRIERIL
(=) a4
S REEIE]

Which of the following is not an example of non-material culture?
(a) thought

(b) emotions

(c) religion

(d) book

GRETIE]
(d) book

10

FAT FHT ST FY -
T ILFILT gLt AT § G ST g

Correct the statement -

Small tradition is found in urban societies.

Y T AT TR H Iy STt € |

Small traditions are found in rural societies.

11

ATATET F TF HeeT Tl ATTHA FLA qTAT U ATIH

A comprehensive survey that includes every member of the
population is called........................ ?

STAIOTAT

census




12

=T FT TH | & Fa71 8 ?
CIRIRIEES
() TATaF
I RECIRET
SEERS:

Which of the following is the type of Data ?
(@) primary

(b) tertiary

(c) secondary

(D)Aand C

SEERS:
(D)AandC

13

g ATATIST TE( [STee ST 9T AT S aHg! ®l 37 a7 95

gfeafa It BT 8, FgATdl § ?
AT TEHL0T / ATAT JeaT

The social system on the basis of which individuals and groups get
higher or lower status is called ?
Social Stratification/Social Structure

QTS T

Social Stratification

14

HTF o 0 ! TH{d, SCATE 6 ATLAT F TTHD] il SETH AT Rl

FETE?
FATT / W

What did Marx call the indifference of workers towards the nature
of work and the means of production?
Alienation / conflict

SRRIE]

Alienation
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T STTT ol ST ohee & o ?

(1) TrHTERTHT

CIEUREL]

() ghEm

(=) AT

Who gave the concept of Dominant caste?

(a) Ramaswami
(b) Srinivas
(c) Durkheim

(d) Marx

@) shffam

(b) Srinivas

16

2011 T STARTOATIHTE AT i fohaet Sfqerd STeeaT Tiaf o
e w8 ?

(1) 68.84

(@) 31.6

() 78.74

() 36.78

According to the 2011 census, what percentage of India's population
lives in Rural area ?

(a) 68.84

(b)31.6

(c) 78.74

(d) 36.78

(37) 68. 84
(a) 68.84




17

=raeht sfeara fore g | geafvad g ?
(31) TSTEAT
() Efamm
() STTEE

(%) o1

Chipko movement is related to which state?

(a) Rajasthan
(b) Haryana
(c) Uttarakhand

(d) Gujarat

(@) SaTEs
(c) uttarakhand

18

o= Y a8 omET ST wTHE A FT ATIHRT /S AT o TR T
TETAT FLAT &, FeATA & 2

The branch of science which studies the type of human race by
measuring the human body is called?

GIEEREEIC]
Anthropology

1%

T TAHET BT AT AT ATSE T80 o @h hid g ?
(3T) T HTFH

() 7ET

CGIREGKEERS

(%) Tt

Who is the author of the book 'The Elementary Forms of the
Religious Life?

(a) Karl Marx

(b) Merton

(c) Max Weber

(d) Durkheim

(%) TEi

(d) Durkheim




20 | SrStTraET & fUeE Ry e #er g ? 1
(&) Str.uH. g
(F) TAR. AT
(%) ST, Tt
(%) TH.UA. fifFame
Who called the tribes backward Hindus?
(a) G. S. Ghurye
(b) A.R. Desai
(c) D.P. Mookerjee
(d) M.N. Srinivas
ST | () sfruw. giRd
(a) G. S. Ghurye
AT -2
Section - B
21 | ATHISTT AT FAT ] ? 2
What is empirical investigation ?
ST | |TETior TeAa & T T U S F it S arelt aeaa<e s
AT AT FgATdt §
Factual investigation conducted in a given area of social study
is called empirical investigation.
22 | T § AT AT § ? IR0 digd Farsy | 1+1
What is meant by role? Explain with examples.
AT
ftT Tae /T § 2 SSTEIr afed Tarey |
What is role conflict? Explain with examples.
ST | sfeeRT TiRufa #T TS T8 § ST ARE A TRufa % Sga 1+1

ATt St § o sterex U wiRat & o 01 1 9T AT
St it AT

Role is the dynamic aspect of status which a person has to perform
according to the status, like doctor is a status and treating patients
is the role of the doctor.




23

THTES TEIH & ATHTC & T § ?

What is religion according to Emile Durkheim?

TATSA QEIH & AGE " g9 qfas a&qal § qaidq s et
o et A STt A T e i s § S st
T TF AfqH GHIT i WTEAT F FEdt § S I THR et 6w
ST Y v w A

According to Emile Durkheim, "Religion is an organized system of
beliefs and practices related to sacred things that binds individuals

in a sense of a moral community who express similar beliefs and
practices."

24

greTente fAfer fir :2 <1 e e

Write any two types of interview method.

1+1

1. SIFRATT ATETEHR - 39 THE F Q& § Faa Q¥ e veaat
R gEeTETar B €1 79 Rf % g avafad gEeTd axear &
et STt )

2. WTfe ATEATCRIT - T/ THIX F ATETCHIT § T AT 18 Arerehdt
AT GAATITATA § GHET F JT G=AT THAT FL g

3. WA wraTHE- 39 fafy § anemasat i gEATETar SHa-aTAe
TIE €T F qTATATT HLd g

(IS +ft ¥ THFR)

1. Personal Interview — In this type of interview only two persons
are the researcher and the informant. Through this method real
information is easily obtained.

2. Group interview - In this type of interview, one or more
interviewers collect information related to the problem from
many informants.

3. Direct Interview- In this method the interviewer and the
informant talk directly face to face.

(any two types)




25

AT AT ¢ ? AU AR 3 AT H Farsd|

What is observation? Explain about non participant observation.
AT

HAATH AT g ? AGHAGHIT STAATRT % qTC & T8

What is observation? Explain about quasi participant observation.

1+1

HAATHT — T TET e HY f&¥fdr Sy sivereat By e 0
AT TAT AT T THATHLIT AT Tl TAH €F F T@HT F AT

]
FAGATIT sraerra / fAdreror

FAEHIIT STaATR |, ATEAEATAHRAT THg AT T H1, et £ 39
TEAAT FAT §, MO TH T g0 Hi Aifd aAT=F AT |
AT g

Observation — A method of research in which the researcher
studies an event and collects information by directly observing the
event.

Non-participant observation-

In non-participant observation, the researcher observes the group
or community he has to study in a scientific manner, like a neutral
observer.

26

TRaARET =T R |

What is Competition ?

GELER I

What is Conflict?




SAY | waAiRar / wiaeast - a5 fegsrdt siv @i @ § Sad e @) 2
Tl THATT qgATC TaT S T@AT ATaAT 31 Ig ARKIT A § Fraar
FLAT g1 Ig A< == qredt ThaT 8
Ig HTHTISME AT g o sT=ata & a1 At ARl &1 TF & aeg
FT YT A o Forg 3T /@ s )
Competition / Competition - This is a universal and natural action in
which a person wants to move forward without harming others. It helps
in personal progress. This is a continuous process.
It is a social process in which two or more people make efforts to
achieve the same thing.
27 |SewmFTE? 2
What is evolution?
s | S R i+t f & afieds 6t o afear § - sfeem & 2
TR R 2T 2, g 78 Tt et R & S & o ol
T @ ITAT TFAT Tl 2IaT |
Stawm fAradtacor it us v § - Sfawm F st serar
Tl & At ot & fAfear d=r St 2
Evolution is a process of continuous and slow change - In
evolution, change occurs continuously, but it occurs so slowly that
it is not possible to see the change.
Evolution is a process of differentiation - during evolution,
diversity arises in different parts of an organism or society.
28 | AIHRATET AGEAT T IS A RATATE AT 1+1
Mention any two features of bureaucratic system.
XY 1. SIfEeT % w 1
2. UST FT GIIEE 7
3. faifea seamastt & swTorwar 1
4. FATAT FT Ja&T

(@ i )

Functions of rights

Sequential order of posts
Authenticity of written documents
Office Management

PWNR

(any two)
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T § T G9AT § 7

What do you understand by tradition?

T AT AT GHTST % Toh G9g 5 W< T ohTeas o1 a7 sfia §

¢ Ry Ag TEn I Rt a7 SEgit w wgd §) TR
T auf e ST o AR g et §)

T 39 wrearen At Gfa-Ramst @ oft defiia w7 aadt g s

THfARTRT € @5 g8 a1 EEHT SO F q1, JAIe we
gftaea § § 9@ &7 ¥ fa=r et @ yorredt it srasgwar F
TR S Hifs &0 & qria &R Srar ar )

Tradition refers to beliefs or behaviors that have symbolic meaning
or have a special significance in the past within a group of people
or society. Traditions can form and develop over thousands of
years.

Tradition can also refer to beliefs or customs that are
prehistoric, with lost or mysterious origins, having existed since
time immemorial. Originally traditions were passed down orally
without the need for any writing system.

AT -3
Section - C

30

AT H GATSIATH F FEIAT 1 Fls, AT AATHATY AT ?
Mention any four requirements of studying sociology in India?

SEELE

TSI & S+ q e § 9gqit SE qeATst HT qud Hiord |

Describe the major events that contributed to the birth and

development of sociology?

1+1+1+1




2.
3.

4.

A # AT S§F9E, AINERE, 99eEdE, Aaare
THETS FT Tal &1 § A F o GHISIATET STeqqT
AATF g

TEY GHTSAT § TAATHT AT G

AT TASHeaT % a1 & 94T 0 &g

AT TIRET AT ATATIO e il G9T 8q

Sociological study is necessary to properly solve the
problems of regionalism, linguism, communalism, casteism
etc. prevalent in India.

For comparative study with other societies.

To find out about social mobility.
To understand social change and social institutions

31

e qHTSI At sreferaeT Y wgeaqut RAAwardt w9 wiqe § 2
I o)

What are the important features of the economy of modern
societies?

4T

TTHYOT FHTSI T Srefeqae T it Agcaqul fALr9dqTd HF HITEt § ?
Ieg Hiforg)

What are the important features of the economy of Rural
societies?

1+1+1+1




AT THTSIT T STHATEAT il % Aged Ul (FAATATY &
- TIET Sfewt 59 # AT
- & F T | IREadT
- SN SNl § R
- gSfafer SErRm T & s
- fafers =1 % srqa A
- e IT FHTAT T fAreror
- ST T STATEHAT TETAT AT ATATHT FATT T@AT
- JTEIT AT FT 1T e
(@1 o =)

There are several important features of the economy of modern
societies:

- highly complex division of labour

- Change in place of work

- Developments in industrial technology

- Factories of capitalist industrialists

- Salary according to specific work

- Inspection of works by the manager

- Increasing worker productivity and maintaining discipline

- Unlimited expansion of the interconnected economy

(any Four)

[ N U U N

32

FHTSHROT fahdl g & 2 AHTSHHTOT & THE S THHTT Farsy |

What is socialization? Mention the main agencies of socialization.

1+3




FATSHTHRLOT 98 IiaT § s g0 99T &7 998 S99 drad g1 I8
Sfrem = e arelt wfaRaT g1
TSR & @ TR -

- TRER

- a9z A avfer aag

- e

- AT

AT 6 IHAT TF Sfeed qiHaT g, Sad sma deamsi ar
TSR T TSI FAT § HHTSHHTT o TG ATHHRIT 56 THI

. IREAR - GHTSHRTT FTA qTAT G&AT AT ATHEHT & €7 § TRAR
T A qTEqd A SAATHTIT Bl TFT Tgo TR A S+ AT g, A<
TH &7 H g TRATC T 938qdT AT FLav gl

2. qHE, g A= a1 T 99 Tgi ® A q1 396 919 @A a1
Tqg Nt ©F Agaqet wAfAE gy 99 81 T wRw Ayl ¥
FHTSITHRTUT el TTHAT H ST AT THTILTAT ST ZraT gl

3. e : R & siu=TiRE e g Sia=TR# Jrsawd %
T-AT g1 HI @ F T F STeqer I ot grav gl

4. S ATEAH : I ATEAH GHI < &1 TF Afard GeT 997 T+ 5

TR A ATeaw S} AT AT H T Wged ST T T gl g

S HTEAHT % GTT AT SATQT AT & & qg=Te ST gt gl

[

Socialization is the process by which one learns to become a member of
society. This is a life long process.
Major agencies of socialization -

- Family
- peer group, friend group or play group
- School

- Public medium

1. Family — The importance of family as a socializing institution or agency
is truly extraordinary. The child is first born into a family, and as such he
assumes membership of the family.

2. Peer, group friends or play group: Children's friends or play groups are
also an important primary group. For this reason, they have a very
influential place in the process of socialization of children.

3. School: School is a formal organization. Along with the formal
curriculum, there is also some indirect curriculum to teach the children.

4. Mass media: Mass media have become an essential part of our daily

life. The importance of electronic medium and print medium also
remains constant. Information can be delivered in a more democratic
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A qroAT gig T § 7 TATEOT TEUT F Y@ THR GHATSY |

What is global warming? Explain the main types of environmental pollution.

+3




I qraAT gfE - afaF I ghE F FRT FHRT THE0 A TAe
2T AT 8, gt T aTaHT fadiied aedr o1 ¥ g o stfae Tt gt
ST &l 8, fSrEe F1r eat it o foree onft 8 S At F Saea?
H TRy FT & g AT % TR a8 A9 AR T G906 g A qeer

I I ATeAT

HET T -
o AT
o ST
o i
o et T
o TTHIY YU

o ATY YU - I TAT ATEHAL & AT ATAT STGLIAT T TAT TG
ITANT F o0 T q9T FrF 7 AT

o STET TEUT S ATTerAt, Herdt H fshersr arer =2ef qared, Afeat qo
STATIT H qZTAT TAT =T Fohe STAAT

o AT YU ATSSEAIHY, ATGAT o I+, ATATATA  ATeAT FT MY,
HATISIT F 1T 9 et arett Sast, 929 &M

o W YU EAT H AT AT, THATAF @TEl T T, TZ
FET e, HIALST, TSITET AUT | THII S Tar4T &7 Het § e

o TTHTI[ YU - TTHTI TEEAT & ety arett ot

Global warming - Due to global temperature increase, our
environment has turned upside down, the temperature of the earth is
increasing day by day due to which there is more heat, due to which
the ice of the poles has started melting, which has increased the
water level of the oceans along the seas. The problem of drowning

of many inhabited cities and islands is going to arise .

main types —

e air pollution
Water Pollution
land pollution
Noise pollution
atom pollution
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TS T8 F4T § ? TEI % SAgaTE AT Taq qradqdl Tahar 3 a3
AT |

What is social fact? According to Durkheim, explain the difference
between mechanical and organic unity.

+3




AHISE T - (social facts) S9 HeAl, AIEHAH AEHI )norms),

TAT FTHTISTR HCAATSA HT Fgd g ST A<k I TRATAT FLd g T I
ST AT aeee TEATTIT F2d &l

TETH ATHTSE T2 A UF UAT G2F A 8, 7 a&q+=8 gl g, Y
ot e g a9t aeq F = § w¥ a9 g1 TAfT a2 A
T ¥, UF AT, TF AT T2 % &9 § @7 g 3 o T uF A@ifas
T FT AT AITaent § a7 STaT 8, SHT TR FT 7T AT
TTHTISTR T2 T TETTT Fd g

1. T3 THAT — AT Tk srfey waTsit § vy aear i wepia A1
38 & U= gu quTsil § qrT STt 81 37 SIS § (A S iwmor i Frat
T Traeor 7 % ITET AT § T9T Hae o6 3T o % ST 9% gf F1a1 §
?ﬁ.?T-E@T'T faradeeor amT STar gl H’F{fg‘* AT (Collective conscience)
T, SR UF-gEY A 2 TEd @ a7 39 "rq{ed FqAT H S410 T T
a¥ft e AIHT TXH FAA AIEA. g1 T THAT 9g UHaT g S R
SARIT GTT U ST ATAT 6 HILT AT &1 SAAT] ST 9= (Likeness) T
TR § T8 TF 93 T il UHAT § ST AR FIGF FIT a970 L&l
ST B

2. QTAIET THAT — ATGT4T UHaT sraaraara F A gt g1 o
THE ST STH-TAATS g1 Tg UHaT ST THTS il T@ &erar it
STt 81 @ FT FgdT § FoF SE-S8 GHTS 0 SHEeT F1 g9 a7
AT FAT AT § AH-99 ATHRIT 6T Araeqhard ff agdt St g1 =
TEAT T2 AFLARAT F FIEOT ARHAT & FAT § AT AT § T T9F
qrT gt A0 fAehieor sEar § d9iq A9-faarse & s I 81 39
THAT &I, ST 6wt 6 forear gy e (sratq sw-fEreme) §iw
TEH TOTHETET SRIT T ST o FT0 AT 8, T draaar
T FEd &1 Ha=l THT 67 I AL g 1 el 2

o FIF®F UHKAT THIAATS UL SMATRA Bt g, &k draaer
AT STAT AH-[AATAT I AT BT Bl

o FI(AF THRAT HIA THTS | ITAT AT g, A&k AT TahdT
A FATSI T THE T

o AT THAT FAIC T § FHART FTLA HT TG FrAHT ST 2,
STateR ATaAET THAT I4TC @ § ATdqZaH FIgA 6|

o FITAF UHAT FT VTET WSTHF gIdT g, Tash dATaT=r THAT FHT
GRIETT
qﬁ%qwm%ﬁw FY A qrsl H

NI DA MSE TR TS



https://hi.wikipedia.org/wiki/%E0%A4%B8%E0%A4%BE%E0%A4%AE%E0%A4%BE%E0%A4%9C%E0%A4%BF%E0%A4%95_%E0%A4%B8%E0%A4%82%E0%A4%B0%E0%A4%9A%E0%A4%A8%E0%A4%BE
https://hi.wikipedia.org/wiki/%E0%A4%AD%E0%A5%8C%E0%A4%A4%E0%A4%BF%E0%A4%95_%E0%A4%B6%E0%A4%BE%E0%A4%B8%E0%A5%8D%E0%A4%A4%E0%A5%8D%E0%A4%B0
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T3, IS I HATTH TS it THE FAwqrett &1 Foi <

According to Desai, describe the main features of a welfare state.

FSTURTY T it fFQrwaTd

FTIHT T TF THRIHF T grav gl
FATIEH ST FaA ~IATH HTA &l Tl LT ST LA qAT
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Features of welfare state:

A welfare state is a positive state.

The welfare state does not merely perform the minimum
functions that are necessary to maintain law and order.

It is an interventionist state and uses its powers to
implement social policies for the betterment of the society.
It is an essential condition of democracy.

Formal democratic institutions are considered to be
characterized by multi-party elections.

Its economy is mixed.

Mixed economy is an economy where both private
capitalist companies and the state work together.

The welfare state neither eliminates the capitalist market
nor does it prevent the public from investing.

(Describe any four)

[ N (. U N

T -4
Section—-D




T AT 36 ¥ 38 el STUUCHS g TAHT Yodia e a9 & faa® &
STET I HX -

Question numbers 36 to 38 are long answer type and should be
evaluated at the discretion of the examiner.
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Not all the groups to which we belong are equally important to us. Some
groups influence many aspects of our lives and bring us into personal
association with others. 'Primary group' refers to a small group of people
who are linked by close, face-to-face interaction and cooperation.
Members of primary groups have a sense of belonging to each other.
Family, village and group of friends are examples of primary groups.

Secondary groups are relatively larger in size and have formal and
impersonal relationships. Primary groups are person oriented, while
secondary groups are goal oriented. Schools, government offices,
hospitals, student unions etc. are examples of secondary groups.

The idea of comparing the old traditional and agrarian life with
the new modern and urban life on the basis of their different social
relations and life-styles leads to the writings of classical sociologists.
Community refers to those human relationships that are highly personal,
intimate and enduring, where a person's participation in true friends or a
close-knit group, although not as important as a family, is important.

The meaning of society or association is in every way the opposite of
community, especially the obviously impersonal, external and temporary
relations of modern urban life. The need of commerce and industry is that
the behavior of one person with another should be measured, rational and
according to personal interests. Instead of getting to know each other, we
make agreements or compromises. You can consider community and
primary group as equivalent and association and secondary group as
equivalent.

The feeling of belonging creates in-group identity. This feeling
separates us or us from them or them. Children studying in a school may
form an in-group against children not studying in that school. Can you
think of any other such groups? In contrast, an outgroup is one to which
members of an ingroup do not belong. Members of an out-group may face
adverse behavior from in-group members. Immigrants are often
considered an out-group. However, here too the actual definition of who
does and does not belong varies over time and social contexts.

1. What is called primary group?

2. What is community?

3. How is in-group identity formed?

4. What can the Sangh be considered similar to?
5. Give examples of outgroup?

6. What can the community be considered equal to?
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1. 'Primary group' means a small group of people who are linked by
close, face-to-face interaction and cooperation.

2. Community refers to those human relationships that are highly

personal, intimate and enduring, where a person's participation in

true friends or a close-knit group, though not as important as a

family, is important.

Feeling of belonging creates in-group identity.

Secondary group

His family, his kingdom, his sports team

. Primary group

ov AW
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What is cooperation? Explain division of labour.
Or
Make a comment -
1. Cooperation and conflict
2. Mechanical and organic unity
3. Capitalism

2+2+2
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Cooperation: Work done together to achieve a common objective, such
as helping in family work, people supporting the government in times of
national distress.

The idea of cooperation is based on some assumptions of human
behavior:

* Without the cooperation of humans, survival will become difficult for
mankind.

* We can see evidence of cooperation in the animal world also.

According to Durkheim, solidarity is the moral force of society, and
it is fundamental to understanding cooperation and thus the functioning
of society.

The concept of division of labor was introduced by Adam Smith. Division
of labor refers to the division of task
specific part of the production
Smith in 1776 in his be



https://hi.wikipedia.org/wiki/%E0%A4%B5%E0%A4%BF%E0%A4%B6%E0%A4%BF%E0%A4%B7%E0%A5%8D%E0%A4%9F%E0%A5%80%E0%A4%95%E0%A4%B0%E0%A4%A3
https://hi.wikipedia.org/wiki/%E0%A4%AA%E0%A5%82%E0%A4%82%E0%A4%9C%E0%A5%80%E0%A4%B5%E0%A4%BE%E0%A4%A6
https://hi.wikipedia.org/wiki/%E0%A4%94%E0%A4%A6%E0%A5%8D%E0%A4%AF%E0%A5%8B%E0%A4%97%E0%A5%80%E0%A4%95%E0%A4%B0%E0%A4%A3
https://hi.wikipedia.org/wiki/%E0%A4%B5%E0%A5%88%E0%A4%9C%E0%A5%8D%E0%A4%9E%E0%A4%BE%E0%A4%A8%E0%A4%BF%E0%A4%95_%E0%A4%AA%E0%A5%8D%E0%A4%B0%E0%A4%AC%E0%A4%A8%E0%A5%8D%E0%A4%A7%E0%A4%A8
https://hi.wikipedia.org/wiki/%E0%A4%AD%E0%A4%BE%E0%A4%B0%E0%A4%A4
https://hi.wikipedia.org/wiki/%E0%A4%B9%E0%A4%BF%E0%A4%A8%E0%A5%8D%E0%A4%A6%E0%A5%82_%E0%A4%B5%E0%A4%B0%E0%A5%8D%E0%A4%A3_%E0%A4%B5%E0%A5%8D%E0%A4%AF%E0%A4%B5%E0%A4%B8%E0%A5%8D%E0%A4%A5%E0%A4%BE

38

T =T T QAT SAGedT TAT SH G TATIOGR TREdA1 1 a0
Eadl

EREI
feoqoft =% -

1. wiggife

2. YH

3. T g

Describe the social system of urban areas and the social changes taking
place in it.
Or
Make a comment -
1. Mass transit
2. Ghettoization
3. Gated Community

2 +4
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Urban Society - The large area in which most of the people earn
livelihood from non-agricultural occupations and among which formality,
competition and secondary relations predominate, is called urban

society.

Urban areas and social change:

Ancient cities supported the economy. Example: The cities which
were situated on the banks of ports and harbors were in a
profitable position from the point of view of trade.

Religious places like Ajmer in Rajasthan.and Varanasi in Uttar
Pradesh were more famo

Due to high densi

immigrati







